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Time: 2 ' hrs. Marks:75

Note: 1. All the questions are compulsory. V

2. Figures to the right indicate full marks.
Q.1 Answer any TWO: . (15)
A. Explain the circular flow of national income in two-sector economy.

B. State the features of trade cycles.

~ C. Calculate the value of multiplier when MPC=1/8 and 3/2.

Q.2 Answer any TWO: (15)
A. Write about the constituents of money supply.

B. Discuss factors determining velocity of circulation of money.

C. Write about tﬁe motives of demand for money.

Q.3 Answer any TWO: : (15)
A. Explain the different types of inflation.

B. Describe the causes of inflation.

C. Discuss the monetary measures to control inflation.

Q.4 Answer any TWO: , (15)
A. Write about assets and liabilities of commercial banks.

B. Discuss the objectives of monetary policy.

C. Explain the derivation of IS curve.

Q.5[A] State whether following statement are TRUE or FALSE and give reasons (Any
Four) (08)

A. Households are owners of factors of production.

B. Aggregate demand in two sector economy comprises of C-+l+G.
C. Cash held by central government is included in money supply.
D. Speculative demand for money is interest elastic.

E. Inflation is macro-economic phenomenon.

F. During inflation Bank Rate is increased.

G. LM curve is upward sloping. :

H. Full employment is an objective of fiscal policy.




Q.5[B] Fill in the blanks: (Any Seven) 07)
1. is an injection in two-sector circular flow of income.

A. Investment B. Savings  C. Taxes
2. is a period of slowing down of economic activity.
A. Prosperity B. Recession - C. Depression
3. economy is an economy where there is presence of foreign trade.
A. Closed B. Open C. Domestic
4, is a part of broad money.
A. Currency B. Demand deposit  C. Time deposit
5. Keynes considered : rate of interest as the lowest rate below which

the market rate would not decline.

A. 3% B. 2% C. 1%
6. When Demand is more than supply it is called inflation.
A. Constant B. Demand-pull C. Cost-push

7. High powered money is also called

A. Broad money B. Narrow money C. Base money

8. Real income during inflation

A. Increases B. Decreases C. Remains constant

9. Dearness Allowance is compensation against

A. Price B. Investment C. Inflation
10. Deposits are of commercial banks.
A. Asset B. Liabilities C. Profits

11. Interest on deposits is of banks.
A. Investment B. Expenditure C. Income
1. is an instrument of fiscal policy.

A. Statutory Liquidity Ratio B. Cash Reserve ratio C. Taxation
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